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43 def mecab(task):

44 tagger = MeCab.Tazger ("-Ochasen”)
45 node = tagger.parseloNode(task)
46 sentence = []

47 genkei = []

43 katuyo = []

49 hinshi = []

50

51 while node:

512 word = node.surface

53 welass = node.feature.split(”,”)
54

55 if not welass[0]=="BOS/E0S";

56

57 sentence.append(word)

58

59 genkei .append(wclass[6])

60

61 katuyo.append(wclass[5])

62

63 hinshi.append(wclass[0])

64

65 node = node.next

66

67 return sentence,gerkei katuyo,hinshi
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4001 sonkei==1;
41 ferint(TEBHIZT 27

1

I

142 rum=-1

143 for a in genkei:

144 numt=1

145 if a in sonkeigo:

146 lkatuyokei=katuyo[num]
147 keigo=sonkeigola]

148 hinsi=hinshi[num]

149

150 result=henkanikeigo,hinsi,katuyokei,num,sentence)
151

152 sentencelnuml=result
153

154

155

156 if kerjo==1:

167  fprint("SEEZT37)

158 rum=-1

159 for a in genkei:

160 numt=1

161 if a in kenjogo:

162 katuyokei=katuyol[num]
165 keigo=kenjogola]

164 hinsi=hinshi[num]

165

166 result=henkan(keigo,hinsi,katuyokei,num,sentence)
167

166 sentence[num]=result
169

I

70 semifinal=""".join{sentence)
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69 def kensakulpart, word, form):
70 if part == "Ehiq " :

71 file name = "Verb.csy™
72 elif part == "BiEhEE" :

73 file name = "Auxil.csv”
74 else :

7h sys.exit()

76

77 f = open(file_name, r’)

78 dataReader = csv.reader(f)
74 for row in dataReader:

a0 it word == row[10]:

a1 i form in row[9]:
82 return row[0]
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85 def henkanikeizo.hinsi,katuvokei .nun,sentence):
]

87 result=mecab (keizo)

a4 tango=result [0]

a9 a=tango[-1]

a0

91 new_result=kensakuthinsi,a katuyokei)

9z

93 if len(sentencel>nunt!:

94 if sentencelnum+l]=="2":

g5 if "I in katuvokei:

96 if new_result==None:

97 katuvokei=katuvokei.strip(” 2 iEf")
a3

95 else:

100 katuyokeizkatuvokei.strip("HE"1+7 DR
101 if kensaku(hinsi,a,katuvokei)==None:
102 katuyokei=katuvokei.strip(” 23"
103

104 if sentence[num+11=="7=" or sentencelnumt1]=="7T7":
105 if THEI in katuvokei:

106 if new_result==None:

107 katuvokei=katuyokei.strip(” 2 EH")
108 else:

108 katuvokei=katuvokei.strip ("7 )+" 2 ER"
110

111 if kensakuthinsi,a,katuyvokei)==Hone:
112 katuvokei=katuvokei.strip(” 23EH")
113

114

115 final _result=(kensakuilhinsi,a.katurokeil)

116

117 if not final_result==Naonse:

118 tango[-1]1=final_result

114

120 semifinal=""

121 for a in tango:

127 semifinal+=a

123

124 return semifinal
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167 semifinal="".Join(sentence]
168 print(™ ] 7]
169 print(semifinal)

MM 2hhnT=EE

77 result=mecab(semifinal)

173 sentence=result[0]

174 genkei=result[1]

175 katuyo=result[7]

176 hinshi=result[3]
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178 num=-1

179 for a in genkei:

180 num+=1

181 if a=="72":

182 if hinshilnum]=="8h&H3T" :
183

184 katuyokei=katuyol[num]
185

186 result=henkan(" T4 " ,"BNEN58" katuyokei ,num,sentence)
187 sentence[num]=result
188
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190 num=len(genkei)
91 for a in reversed(genkei):

97 num-=1
93 if a=="F T "
95

96 if genkeilnum] in jodoshi:
97 result=kensaku("Ez3" ,a, BEEFE")

198 sentence[num]=result

1
1
1
194 num-=1
1
1
1

200 katuyokei=katuyo[num]
201 result=henkan("F ", BIEN:T " ,katuyokei ,num,sentence)

202 sentence. insert(num+l, result)
203 break
204

205 if hinshilnum]=="%1339":
206 result=kensaku("Ez3" ,a, BEEFE")

207 sentence[num]=result

209 katuyokei=katuyo[num]
210 result=henkan(”" & 47, "Bh&EN:T " katuvokei ,num,sentence)

211 sentence. insert(num+l,result)
212 break
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206 result=mecablsemifinal)
207

708 sentencesresul t[0]

209 genkei=result[1]

210 katuyo=result[2]

211 hinshi=result[3]

212

213 for a in reversed(genkei):
214

215 if a=="F 19"

216 num=genkei . index(a)
217 katuyokei=katuyo[num]
218 tango=genkei[num-1]
219 hinsi=hinshi[num-1]
220 result=henkan(tango,hinsi, katuyokei,num,sentence)
pal sentence[num-1]=result
222 sentence.pop(num)

273

224 if a=="TY":

225 num=genkei .index(a)
] katuyokei=katuvol num]

227 resul t=henkan(”7=","BhEhz8 ", katuyokei ,num,sentence)
228 sentencelnum]=result
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